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ENGLISH (C) Proponent
1. The_____ of war illustrate that the Roman (D) Consumer?”
army mnl.l.‘lud some nl.' ﬂu most du:ipliued 8. The was loo wide to jump across, so
soldiers ever. we had to cilmb dowa into it and eraw) up
(A) Impervious the other side.
(B) AfMuence (A) Ravine?
(C) Annals¥ (B) Simile
(D) Ascent (C) Jargon g
y N """Tlth <k nuu.itl: awakened me. When 1 (D) Ramification
looked out of the window, I saw that s ear |9, The ____ weather has made it hard fo plan
had hit the fire !Irqulﬂl - g ‘Il'hll to wear all weeke |
(A) Cluemghy™ SIS HIg EINTS " (A) Expont
(B) Epitome (B) Median
(C) Connoisseur (C) Variablev
3 Tﬂlmm hllu;n by of B i |
E o~ phy o lhe :Iurity is that 10. The b managed (o sia
everyone needs.help “'mlﬁmﬂ- ; when lhmun:ﬁy a mlllmj mup. é _I.“ﬂ -
(A) Montage ¢ (A) Republicy . ' h
(B) Triumvirale . o (B) Hierarchy .,
(C) Underpianing? g (C) Connoisseurs o
o8 Cinematography *' | (D) Imagery '
R e plays an ria
: deciding wl:ltI= Is i::l Hn'lt?:sp;uhi::t I'PII " e EtMHﬂ.;F:t;::::JI:: s
* (A) Diction 5 i (A) Montage?
(B) l‘.‘.‘nmumtr-" ) P T (B) Wanes
{cl mm“ﬂ (Rt ay SN L0 YOS 1} | {C} F
(D) Ambivalenée ™ ol ‘ri]} 171 (D) Juxtaposition
5. The __  process bq,lu: u mut 1. The . w
children begin learning about lthplll:h will be wnnhul: :::qﬁ :ﬁ :.:;I :“t‘ 'mﬂ
behaviours in their first year. ey ™ (A) Ascent’ np.
(A) Audible R (B) Dujour
(B) Deviate _ b (€) Dolee vita -
F (YAl a4, Taked tunt B o Triumvirste
(D) Secializationv " ° 13. The art _ fiked "
The thought he had discovered the however, even everyone tl:: L‘:::l::n:mﬂ::’:
secrel o Inn; life, but he was proven wmng it was boring,
when he died a week later. (A) Milieu - :
(A) Diction ! . (B) Genre G gls! .
'(B) Forensiess # o <= v # 5 2 (C) Cinematography ety Bl
(C) Alehemist? (D) Connolssenty W& oo e
(D) Metaphor 14. The award was given . The artist died
7. -The was angry af the store because a month before the ecremony.
half of the items that were listed in the ad (A) Jargon
were not in stock, (B) Encrypted
(A) Bravura 4 (C) Posthumously
(B) Prerogative -
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(1) Ascent
The hank vaull was supposed to be 0
rohbiery, bt thieves still hroke in.

{A) Taboo

{}) Ravine

(C) Permutation
mpervious?

:r::.:[;:mm .1 geton a balcony whea

I'm on second Noor.

(A) Jargon

(B) Elixir

(C) Metrophobia

(D) Aeraphohia?

| thought my sister was going fo stop by

while | was gone, bul there wasn'ta _____ of

her having come by the lp:ﬂmml.

(A) Levy

(B) Relish ¥

(C) Hailing

(D) Venerale

I'took an Aspirin to
knee.

(A) Cited

(B) Deviate

(C) Alleviate? "

(D) Plagiarize

I tried to ____ my friend after he got &
phone call unjustly accusing him of breaking
the neighbour’s window.

{A) Manifest
(B) Placate?
(C) Monif »
(D) Meticulous w00
I tried to deaw __ lines without a ruler,
but | couldn't make them' straight enough;
they would have eventually mel.
(A) Varinbles
(B) Vivid 7 b8
[C}hﬂ"ﬂ"* yyes, aalh ol Thnan el
(D) Horizontal
GENERAL HNDWLEDGE i
For galvanizing iron, which of the following
metals is used?
(A) Aluminium
(B) Copper
(C) Lead
(D) Zinev :

the pain in my

e

2L
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7.

29,

Economic goods are:

(A) AN commodities that are lmlied In
quantity as compared to their demand v

(B) Commoditics that are available according
to thewr demand

(C) Commodities that are available more as
compared to their demand

(D) None

For purifying drinking wlt:r, -lum is used:

(A) For coagulation of mud particles?

(B) To kill bacteria '

(C) To remove salts

(D) To remove gases

Hockey was introduced in Ihl.'r Aslan Games

in:

(A) 1958 in Tokyo?

(D) 1962 in Jakana

(C) 1966 in Bangkok

(D) 1970 in Bangkok

ESCAP stands lor:

(A) Economic and Social _Cnmmlulun for
Asia and Pacific?

(B) European Society Council for Africa and
Pacific

{C) Economic and 'Social L‘nmmimun “for
Africa and Pacific

(D) None

Firdausi was: it

(A) A poet '

(B) Well known for his epic ‘Shahnama®
(C) Both options A and BY

(D) None

1t is an important city nﬂmt

(A) Kirkuk? ;

Gabriel Daniel Fahrenheit was:

(A) A German Physicist

(B) Developed the mercury lh:rl'nﬁnlllr in
I?I" g L [}

{C} Devised temperature :ﬂh

(D) All of the abave? -

The first crusaders reached Jerusalem and
captured it in:

(A) 1000 AD
g m lm m‘ ¥ I
(C) 1200 AD
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(D) 1515 AD

30. Dr. Linus Carl Pauling is the only person to
have won two Nobel prizes individually for:

(A) Chemistry in 1954, Peace Prize in 19627
(B) Peace Prize in 1954, Chemistry in 1962
(C) Physics in 1954, Medicine in 1962
(D) Medicine in 1954, Physics in 1962
Himalaya runge is based In ____.
(A) Europe
(B) Asias
(C) Africa
(D) Australia
32." Name the moun
Py tain range found in South
(A) Rockies
(B) Alps
(C) Andesv
(D) None

L

33.  Sesson mountains are:

(A) Tallest mountain
(B) Oldest mountainv
(C) Youngest mountain
(D) None

:f«l. Chermain mouniains are enly present in:

(A) Sri Lanka
(B) Chile

(C) Indiav
(D) None

35, The highest platesu of the world is:

(A) Balochistan Plateau
(B) Potohar Pplateay
(C) Pamir Plateauv
(D) None

36, What s beight of K-27

(A)BI27m

(B) 8611mv

(C) B668m

(D) None

Which is highest
world? j
(A) Mount Everestv
(B) K-2

(C) Nanga Parbat

(D) None

38.  Mount Everest is present ln which range?

_(A) Himalaya

mountain peak of the

39.

40.

41.

(B) Karakoram+
{C) Hindu Kush

(D) None

“Cathay Pacific” is alrlioe of:

(A) Hong Kong?

(B) Taiwan

(C) Japan

(D) China

Rose s the national symbol of:

(A) Jordan -

(B) Syria

(C) Iraq

(D) Tran¥

Which of the following UN agencies has
received Noble Peace Prize?

(A) UNICEF

(B) ILO

(C) UN High Commissioner For Refugees
(D) All of these” —

Highest mountain peak Mount Everest is
situated in:

(A) Pakistan
(B) China
(C) Nepalv
(D) India
Atlas Mo '
Al unllnllu are present in which
(A) Niger
(B) India
(C)Egypt .
(D) Moroccov e D
Pontus Mountains are
country?
(A) Russia
(B) Turkeyv
(C) Egypt
(D) Nepal
“Nippoa" is the former
(A) Hong Kong name of:
(B) Japanv
(C) Libya
(D) Italy
The highest peak of Hima :
P laya Range is:
(B) Broad Peak
(C) Nanga Parbatv’

present in which
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{D) None
“Sky News™ is news TV channel oft
{A) Canada
(B) UISA
(C) UAE
(D) UK~
Which of the following countries v called
“Land of thousands lakea™?
{A) Netherlands
(B) Finlandv
(C) Scotland
(D) Ireland
Antalya Alrport Is situsted in:
(A) Syria
(B) Turkey«
(C) Ialy
(D) Egypt
The largest cricket stadium of the world is:
(A) Melbourne Cricket Ground
(B) Sharjah Cricket Ground
(C) The Oval, London

(D) Gaddafi Stadium, Lahore
MATH
If one-third of one-fourth of & aumber is 15,
then three-tenth of that number is:
(A)22
(B) 39
(€) 47
(D) S4¢

Three times the first of three consecutive
odd integers is 3 more than twice the third.
The third integer ia:

(A)2

(B) 7

)9

(D) 15 \

The number, whose 5% I 10, [a:

(A) 100¥

(B) 200

(C) 300

(D) 400

A man pays 10% of his income for his

income tax. If his income tax amounts fo Ra.
1500, what is his income?

(A) Re. 13000
(B) Rs. 150007
(C) Rs. 17000

61.

(D) Rs. 19000

A man is 5 Umes as old as bis son. 2 years
ago the sum of the squares of their ages was
114, Find the present age of son.

(A) 7 yearn?

(B) 9 years

(C) 8 years

(D) 8 ¥ years

The number, whose 13% ls 57, is:

{A) 30O

(1) 400+

(C) 500

(D) 900

A can do a piece of work In 10 days and B
can do it in 15 days. The number of days
required by them to finlsh i, working
together is: :

(A) 8

(B)7

(C) 67

(D)4

“A man bought a Mat for Rs. 820,000, He

borrowed 55% of this money from = bank
How much money did he borrow from the
bank?

(A) Ra. 4,51,000¢

(B) Rs. 4,52,000

(C) Rs. 4,53,000

(D) Rs, 4,54,000

A primary school had an enrollment of 850
pupils in January 1970, In January 1980, the
enrollment was 1120, What wms the

~ percentage Increases for the earollment?

(A) 31.76%7

(B) 31.50%

(C) 30.65%

(D) 34.76% _

The difference between simple and

compound Interest on Ra. 1625 for 3 years sl

4% per annum In rupees la:

(A) 7.95

(B) 7.90¢

(C)7.70

(D) 7.75 e
selling m fan for Rs. 475, a pemon

:’:;.Tﬂ:l'llllllnrmhm,l““l

fan for:

(A) Rs. 500
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66. I a car is sold for Rs. 50000, the profit is 17

62.  One side of a rectangle in 22 rnt. Which of

63,

" 64. - Which of the following numbers h divisible

¥

g :

A

@I/ o o ablirten ,
©4 ~ il =t
e 'tﬂ}j o LTIy | SUET J

67.

Bl N

L (B)20%Y

65. T\vﬂumhhﬁhwninﬂnﬁhnﬂmnr' y

SIB)1S.98%Y . el !
“ (0)16.20% > “n

much rice does Q family gets?
AA)220KE o g e .
KB 2I0KE: “ 1 i rmiuy 2 pon ) o

(C) 240 k[lf Sy T TR

(B) Rs, 525+
(C)Rs. 535, ..  ow
(D) Rs. 575

the following could be the prrlmlur of the
rectangle?

(A) 28 feet

(B) 33 feet

(C) 44 feet, i 1

(D) 54 fectv

Price of sugar.is increased by 25%. The
percentage of consumption to be decreased
so that there would be po increase in the
expenditure is: .

(A) 18%

(C) 2%
(D) 24%

by 127 ¥
{A) 4653
(B) 4818
(E]l 4501~

o T
=

work. Afller the 12 mch' have worked for |
hour, the contractor decides to call in § more
men. How many more hours would 20 men
take to complete the remaining work?

(‘A] 2.'-.' P |

i bouite sremise s

percent. What would be profit percentage if
sold for Rs, 470007

(A) 14.85% ‘ 1

patind lisgagasdy 190G

$0 nl ineans a0

(D) 14.50% *~

Three lamilies, P, Q and R,llurt 480 =Il,g of
rice. Q receives twice as much rice as P and
R receives hall as much rice as Q. How

69,

70.

7L

(D) 250 kg

73

- {A}Pmlm 'l k fIL -
, (B) Neutrons

.

Six men worldng 8 hours a day and earn Jis,
720 per week. 8 men working 6 hours 3 day
will earn per week:

(A) Rs. 540

(B) Rs. 7207

(C) Rs. 960

(D) Rs. 1080

In the exam, 45% siudents [ﬂlui and 55n

students were successful. The total number
ol students who appeared in the exam were:

(A) 1000v
(8) 900
(C) 1500
(D) 800 _ !
Sadiq purchased a plot for Rs. 8,000. He
sells the plot to Abid at a profit o [ 20%.
Abid in turo sells that plot to Arif at 2 loss of
20%. The plot costs Arif:
[A) Rs. 12,000
(B) Rs. 10,000
(C) Rs. 8670
(D) Rs., 7680+
; SCIENCE
Which of the following statements about the
use 'of radioactive hulupu is eorrect?
(A) In medicine; they are used' as ’ﬁ‘n:::rs for
diagnostic purposes
(B) In industry, they are used 10 detect leak in
water, oil and gas pipelines -
(C) They are used tndcto:rmmu the :g:ufmcks
. and fossils. ‘

(D) Al of these statements are HI"I'“I-"

Which of the following plays the central role
in determining the chemical properties of
atoms and molecules?

(A) Electrons : {
(B) Neutrons v T
LC} Protonsv” F= i sedmnn 2 5

{D} All'of the above ]

- Which of the following p:rthlu move

around the nucleus of an atom and are
negatively charged?

-

(C) Electronsv’, , .

(D) None of these

With respect to which lhmul. the valency
of elements corresponds to group number?
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79.

(A) Removal of excess carbon dioxide from

8l.

(A) Hydrogen

(B) Oxygen

(C) Carbonv

(D) Helium

Which is the most reac
(A) Fluorine

(8) Lodinev

(C) Chlorine
(D) Bromine

Which of the followi
lest size? ng clemenis has (he

(A) Magnesium <

(B) Phosphorous

{C) Chlorine

(D) Aluminium

lonization pﬂmﬂll is the term used to
express:

(A) Electron l.ﬂ'imty

(B) Electro negativity

(C) lonization energyv

(D) None of these

An analgesic is taken to relieve oneselfl of;
(A) Cough

(B) Indigestion

(C) Pain

(D) Fever

Which one of the following is the key
function of the kidneys?

tive Halogen?

blood ¥
(B) Pumping blood to l]:n heart

(C) Removal of urea and uﬂ:ur nitrogenous
wastes from blood

{D}Rmnmﬂnfmnwmrﬁmhlmd

How many chromosomes are lhtrlil:bndr ,

cell of human beings?
(A) 49
(B) 56
(©)25
(D) 46¥

PAKISTAN AFFAIRS
1857's War of Independence was fought in
the administration of:
(A) Lard Canning?’
(B) Lord Curzon -
(C) Lord Comwallis

(D) None

The important event(s) of Lord Canning's
reign was/were:

(A) War of independence

(B) Abaolition of East India Company

(C) India direcily came under British rule
(D) Al of these?

The Government of India was taken aver by
the British Crown in:

{A) 1857 AD
(B) 1858 ADY
(C) 1859 A.D
(D) 1860 A.D

Give the name of the country which has
cooperated with Pakistan in  the
manulacturing of JF-17 jet fighter.

(A) China¥’

(B) Turkey

(C) Indonesia

(D) Saudi Arabia

Which country hosted the 10* OIC Summit
in October 20037

(A) Iran

(B) Kuwait

(C) Malaysia¥

(D) Qatar

Is it correct that Lord Canning was the:

(A) Last Governor General of the East India
Company _

(B) First Viceroy under the Hyitish Crown

lﬂﬂ-ﬂlﬁlﬁ-}lﬂ{ﬂ}"

(D) None

Lord Ripon ruled India as a second Viceroy
from 1880 to:

(A) 1882 A.D.

(B) 1883 AD,

(C) 1884 AD. ¥

(D) None

President of which nation visited Pakistan in
December 20037

(A) Turkey

(B) Iran

(C) Indonesia¥

(D) China

Lord Ripon brought to a close the M.'ghl
War:

(A) First

(B) Second?’
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(C) Thind

(D) None

Lord Reading ru
from 1921 to:

led ns Viceroy of India

(A) 1924 AD.

(B) 1926 AD. ¥
(C)1927AD. ,
(D) 1929 A.D.
ISLAMYAT
Sarriyn means:
(A) Promise
(B) Treaty i
(C)A battle not attended by (he Holy
Prophet (PBUH)Y
(D) Celebration
Abu Sufyan commanded the Infidels In

-

"whiech Ghurwa?

(A) Uhadv

(B) Badr

(C) Ahzab

(D) Ohad and Badr

Ghazwa Ubad was fought In: r i

(A) 625 ADY

(B) 632 AD

(C) 630 AD

(D) 628 AD

Which was the demise day of Holy Prophet]

(PBUH)? -

(A) Monday¥

(B) Sunday

(C) Friday

(D) Tuesday

Warga B's Naulal was a:

(A) Follower of religion o
(AS) Y

(B) Infidel

(C) Conspirator

(D) Trader

Which is the date of

Prophet (PBUH)?

(A) June 8, 632 ADY

(B) August 25, 632 AD

(C) September 12,632 AD

(D) February 18,632 AD

“Mother of Poor™ title was gained by which

wife of the Holy Prophet (PBUH)?

{mnumz.luhu-tmﬂ-ﬁ{iuqf y

f Hazrat lllrlhﬁll!

demise of the Holy

98.

(B) Hazrat Safia (RA)
(C) Hazrat Sauda (RA)
(D) Hazrat Ayesha (RA)
Idea of digging a die

mﬂun::: B b lrurm ““M
(A) Hazrat Salman Fami (RA)v

(B) Hazrat Ali (RA)

(C) Hazrat Usman (RA)

(D) Hazrat Umar (RA)

In the Battle of Ditch, wh

Infidels? O Wit
(A) Abu Sufysn?

(B) Abu Jahl

(C) Both

(D) None

The Holy Prophet (PBUH) delivered his
farewell sermon at Arafal on:

(A) 10™ Zil-Hajjv

(B) 27° Ramzan
(C) 27 Rajab
(D) 11 Zil-Hajj
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